






Bolt 5/16" X 2-3/4"

Bolt 5/16" X 1-1/2"



Justinw
Typewritten Text
Prepare 8 bolts assembly by inserting lock washer (#E), then flat washer (#D) onto bolts (#C). Align HB/FB foot (#4) to the bottom holes of the headboard (#1) and foot board (#2). Secure with bolts (#C).

Justinw
Rectangle

Justinw
Typewritten Text
Prepare 8 bolts assembly by inserting lock washer (#E), then flat washer (#D) onto bolts (#A). Screw bolts (#A) into the holes of the headboard (#1) and footboard (#2) half way in, then hook the side rails (#2) onto bolts bolts (#A) of the headboard (#1) and footboard (#2). Fully tighten bolts (#A).

Justinw
Typewritten Text

Justinw
Rectangle



Justinw
Typewritten Text
Prepare 2 bolts assembly by inserting lock washer (#E), then flat washer (#D) onto bolts (#B). Align the support legs (#7) to the holes of the support rails (#4). Secure with bolts (#B).

Justinw
Rectangle

Justinw
Typewritten Text
Prepare 4 bolts assembly by inserting lock washer (#E), then flat washer (#D) onto bolts (#B). Align support rails (#4) to the holes of the headboard (#1) and footboard (#2). Secure with bolts (#B).

Justinw
Rectangle



Justinw
Typewritten Text
Attach slats (#6) with connector caps (#6) and end caps (#G) as shown in the picture, then attach the slats altogether to the holes of the support rails and side rails.

Justinw
Rectangle

Justinw
Typewritten Text
Plug into device

Justinw
Typewritten Text
Plug into outlet

Justinw
Rectangle

Justinw
Rectangle




